Er IR CERP S
Eraith A R A

H& FRIAAR
FEERE 10447 N
BAL ERTIT
HAEE ¥BETER KEE | FEE S Lo e
FEE F & B & 5 THES | THE® =
196,102[53 BEEHETE 188,744 190,747
196,102|531 BERTELS 188,744 190,747
189,050(1 AANER 182,483 183,520
123,089|11 FREEHE 128,299] 129,463
120,910[113 MEHS 127,556 128,720(5¢F A\ E: FHER4H( E#r & -2
E150% ~ B2 134)
857 0 0
555 0 0
24 0 0
743|114 TETHE 743 TAB(FER A ERHIAM(T E#HE-T
VED)
12,561|12 B R R A\ B E 2,541 2,620
252(121 A ANEH S 0 0
1,243(122 = Eine 1,221 12215 A& HIRAH G ER B FTE
R ECTIE e R RE)
7.503|124 3 N =L 1,320 1,399| Fe (L ER s LA
3,196 0 0
267 0 0
99 0 0
196|13 HEEE T VESREH 218 218
196|131 HbrE: 218 218|FFF ANE HBHACN MR It E
)
28,70115 15e 27,296 26,937
12,931{151 H gL 11,897|  11,526|zEF N EFAAIEIE T 5%
H54)
49 0 0
15,694|152 AR IR 15399  15411|5¥H A\ FHEHAHEI B T 4%
H54)
28 . 0 0
11,215[16 BAR BHE 11,621] 11,495
11,108161 Tk B 2B R R g < 11,576]  11,450(ZEF A E AR 4N (0 2B Hukt
SHE)
47 0 0
15 \ N 0 of \
46(162 T EER RS 45 45|5¢F NE FHER4H(T 255 TEK
SRR
13,287(18 TR 12,508| 12,787
12,280]181 SEE T REE 11,675 11,954|z¥FH A2 FHEHAHEI B T AR
- SR IRER)
64 0 0
55 0 0
35 0 0
4 0 0
2 N 0 0
4{183 G e gty 0 0

00085-1



Er IR CERP S
Eraith A R A

Z< RIS
thE R R 1 04458 L
By iiE%TT
HIFEFE EBHER KEE | BIFE TN
S A ik 5 R B PR | PR STENERY
843|18Y H A EFE 833 8335 A2 FHBHAH(ER & TR
HBNE)
1119 eEE 0 0
11191 R T EREEH 0 0
5,033]2 e E A 3,968 4,651
1,723|21 IKEE 896 1,060
894[212 TAEGFEE 735 900 EE & (— A& M R BIFR)
691 0 0
128|214 TAESGFKE 155 156|7K & (— % MEREBIZED)
9 0 0
21217 SRASE 6 4\ BESR ~ P
24422 BB 290 290
48221 ﬁﬁ% 60 S Edl=S
1591222 EEhE 180 180| E:HE
37224 HEREE 50 50| ARG AR E f o B R
207[23 TeEE 230 231
2071231 TNyl 220 20| ~ B S HREY
ERE
1236 EYEE 10 11| AW E
227124 EImISsE TS E 285 385
227[241 ENI f 55T & 220 320(H TEFAM EN il B 55
0 40 4012458 ~ BEGEEFHRE
0 25 25| B s s EN Rl
1,362[25 AR KREE 1,040 1,434
71251 T BYEEE 0 0
622[252 —REEEEE 420 SSO(FAEE ~ HiE JHIFT ~ JEEL
OEELE
104254 Hth s EE R 100 100[ 7K ~ jtF'ﬁ SR E R (B
88[255 U = 20 20|18 ENM% ~ ZRENI% ~ EE T HIRE
Z&““
0 76 120| EBhS = S BNk g
0 64 64| E R R4 EE
241256 EE G EE 50 80| 1B K B &5 ~ HERHES
Z&““
235(257 (HIEs M EED 80 100 B2t thideg
0 80 100 ﬁmma SHbE {%%2& g
0 100 200| E A5 bt S sk i 4
0 50 100| 48 el ~ fe g% =
B EEE
1258 Hr & EEED 0 0
7126 RigE 5 5
76Y HAh RbsE 5 S| MUEENE A (R
1,042|27 —RREE 978 976

00085-2



Er IR CERP S
Eraith A R A

&R Q%Eﬁél{g%
#E R 1 044F
PERRHIIOHER Bf ¢ R
HIFEFE EBHER RERE | BEE = g A
S M i 51 B B FEEwy | FE STENERY
0276 H4 - B - KHEEN 2 PEE - FEEE
FEE
153|279 PANER=¢ 152 152| R 2R 2
663[27D aTHFELETE A Bl 610 600 F B Lol N 12457 E - F
g - SRRORER RS TR
R H
160 0 0
0 80 8O|EERTE T 1T &
66[27F DT E= ¢ 134 IL2|HBBE T(EEANB)B5EE
EE= ¢
8928 BERGE 146 172
3285 ARG - fEEE ~ IS 12 36|/ NSRS R B
EB R B
39[287 et (e s bt se e 20 20 K1 R i 2k e % v B FR
=
241288 TRt E | o 0 0
9[28A Bt E e R 28 8| ZfRdEE S - IEEEIERER
ik ¢at|
14[28Y HAt 86 88| bR &
132[29 NEBREGE 98 98
132|291 NIEHRE 98 O8|HkREE E R AN ILRAE
1,266/3 FAFRE B P v 1,367 1,650
831 SERMRIE 3 3
31312 e 3 3|BRE H
5[315 B 0 0
1,259[32 F o RE 1,364 1,647
832[321 s (E%) B 11 11|t 4R
0 170 235| EE K HoE i s MRS R
JEHFE
0 322 522\ BB 2 R R IR
R
94322 WEEE 920 0| FfEEE K B =
170323 S LR B S R B 90 100(E8 505 2 (& U $1%5160,0
E(LE 007T)
0 100 100(4: = LERIR B FH (B U2 151120
,0007T)
22[324 {2 g BB B A 77 EEES A hre
53[326 B 32 3B IEEF) & M AK
43[328 BB FH L (F EEH R T o 90 00| {5 .0 B PR i FH i
)
45132Y HAR 170 170(F B By SIS & F (a1t
2 #60,0007T)
0 212 200 E 3 #1478 K A sl 4K 2

00085-3



Er IR CERP S

EEF T T SR
Z< RIS
thE R R 1 04458 o
By iiE%TT
HIFEFE EBHER RERE | BEE > L
FEE F i B &L 3 THES | THEE :
5054 & ~ EEEFE 548 548
2142 B 0 0
21421 —{E B R4 0 0
16644 R FOEE R S 88 88
166442 EEFH 88 88| FHFH H e F
337145 HIER TS 460 460
337451 HIEER fTE 4 460 460|sZ NI EFH 4
24717 =% - 188h - #Bh - 378 378
& - 1558 - RoBERE
&
6[71 g = 12 12
4(712 EiiEsas 10 10| ~ BESHHERE TS
21713 TEEE ST 2 AEHE AT EE
100(72 15BN ~ #HBhEEE&ES 100 100
100726 HREhER B A A 100 100[E2 4= HEER 4>
141[75 BRI RS 266 266
141[751 FiRET & 266 266|E24: NS AR SOEEI 2 AT
i Lﬁ%ﬁ%é%ﬁ%
51,215/5L — A TBE S 49454 46,955
51,215|5L1 TBEE KR 49,454 46,955
50,7471 AAEH 48,980| 46,485
27115 by 27 27
27(152 X 27 27| HBIR A BEFL 5K
48,060(16 BAR R MM & 48,953| 46,458
48,060[161 ek BRI R ek <2 48,953| 46,458 HiEKR A B BEMRE ~ AR
& M R AR R 4 K
2,660[18 TEFE 0 0
2[181 e B T IREE 0 0
2,058[18Y HAt g 512 0 0
601 0 0
4687 =% 188 - #B - 474 470
& - 1558 - RoBERE
g
46874 FHRL(E) ~ B5E) - 474 470
A ,.“nx,\?mﬁ
468|747 % - HERRE 474 470| HIBIR N B IEER R 6 R =6
Slere At
25415M e Y G 680 1,152
0[5M2 BEREKEETE 0 1,000
05 EREEEEE - BYEE 0 1,000
FIEERM B BRHIE
0[51 BEEEEE 0 1,000

00085-4




Er IR CERP S
Eraith A R A

Z< RIS
thEE BRI 104555 L
By iiE%TT
AIEERE EBHER REE | FFEE Lo g e
S M i 51 B B FEEwy | FE STENERY
0513 ET BB R R 0 1,000
f#5
0|5M3 R B R 18 0
05 JEEEEEE - BPEE 13 0
FIEE/M HE > RERE
0[51 BEECEE 18 0
0515 W B A I S RS 18 0| B ke 1%
254(5M4 HA =t 662 152
25415 EREECEEE - B EE 662 152
BIEER B REIRE
254/51 BEECEE 662 152
254(514 FRE M o R 1S 0 25
0 85 0| HENAS/NEEEES(AED)
0 200 O| BB RS a5 EAH R A
0 15 0| EfMrFzkE e
0l516 HEE (T TEER 0 17
0 266 T0[F stk
0 0 40
0 21 O|fEE HhLaKFE
0 75 0| AR E MR (S EE)
247,571 4 5 238,878| 238,854

00085-5



